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PRODUCTION AND OPERATIONS
W MANAGEMENT

% _%Eﬁﬂ&mu Marks — 70

S}."}
Time : 3 Hours

Answer Guestion No. T which is computsory
and any five from ife rast,

The figurgs in the right-hand margin
indicate marks.

1. Answer briefly the followings ; 2x10

{a} ‘Which type of processing structura is
uwsed for highly standardized products
manufacturing 7

\[,t;} What do you understand by value-added
sarvicas ?

AT.O.

59 what do you understand by capacily
© utilization rate ?

\[ﬁ“ Write any two approaches to achigve
capacity flexibility.

\_59} Write down any threa good reasans tor
carrying invantory. _

‘Ep What is the basic purpose of MRP
gyatem ?

Eg)r What do you undarstand by withdrawal
KAMNBAM ¥

l[}} What is the difference batweean F_me feat
and Independent float ?

fiy  Which type of layout is being followed for .
construction of highway ?

G}y What do you undersiand by External
Failure Cost 7

o A firm works 40 hours a week and has a
capacity of ave Hime work to the extent of 20
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hours in 2 week. Lt had recaived seven orders
to be proceszed on three machines A, B and
C in the otder of A,B, C and 1o beo delivered

in a week time from now. The pracess tima in '

hours are recorded in the Balow mentioned
table :

Machina

dakb 1 2 3
i 7 2 5
z g o 5
3 5 1 4
4 7 3 2
5 8 2 1
& 5 4 5
7 7 g 5

The manager, who, in faimess, insigls on
porforming the jobs in the sequence in whigh
they are received, is refusing to accept an
eighth order, which requires 7.2 and 5 hours
respectively an A, 8 and C machines,

because, according to him, the eighth job.
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would reguire a total of 61 hours for pmcessinlj.
which exceeds the firm capacity. Advise him,
whether to take the job or not. 10

g £xplain the relatienship betveen guality and

productivity under JIT philosophy. 10

%% The following tasks are to be perfarmed on an

assambly line. The workday is seven hours
long and the demand far completed preduct i
750 per day.

Task Seconds Task that must
E precete
A 20 =
B 7 A
C 2h B
o 23 B
E 15 ¥
F n D
G 16 E E
B B G
(a) Find the cg,;rr;le tirne. 1
() Whatis lhe theoratical no. of Worksta-
tions ? : 1
{cy Draw the Precadence Diagram. 3
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{d) Balance ihe line using sequential
e and

tions and longest operating time rui (b} What waeks of supply doss the firm

calculate the efficiency. & maintsir ? _ 4
| £ Ws Videocone Ind cost of goods sold last (£} Whatwas the inventory tumover |ast year?
year was Hs. &5.40,000/- and the firm opet- a4
ies ten (10}

woeks per year. [t carnes , , . -
.?;tes J‘ii yeniory constiuting 4 faw materials, &.. DRDO is planning to bid o a large Drﬂilﬁctlfor
items _ R 3 finished goo ds. the develapment of 8 new communication
! WDTH-'II"L—[_?TOCE — year's aver- system for fighter ptanas. The following tabla
The following table SHOW (ong with 8 gives the activitics and other ralevant cost

: nitem a
age irventory level for 8ac Information.

Activity | !mmedipte | TIme [Cays) Dlrect Cost {Re.)
Predecesanr | Normat | Crash | Narmal| Grash

& m 7 B 7ODD | @000

B A K| 2 EO00 | 7000

o a d 3 anon | 10200

b g, < 5 4 3000 4500

E - o 2 1 2000 | 2000

F 5] 4 = 4p00 | 700

1 E, F E 4 5000 Bocd

tﬂ}. Draw the netwaork diagram and determing

inyento ; . -
{a} What is the average aggregate inv 'r: the minimum and maximum duration of
value 7 the project. 4
PTO. '

HSSHM 4202 5 HE3M 4302 & Cl:lntd,l



(BY  If the projgct is (o be shortened by four
days, show which activities, in order af
reduction, would be shortenesd and the

resulting cast. B

The purchasing manager of a refinery com-
pany is considaring thras sources of supply
for crude harrels. The first supplier offers any
quantiry of Barrels at Rs. 150 each. The
second supplier offers barrels in lat of 150 or
more at Rs. 125 per barrel. The third suppiier
offars barrels in Iot of 250 o more at Rs. 100
each. The refinery uses 1500 barrels a year
at constart rale. Carrying cost are 40 percent
and it casts the purchasing agent Rs. 400 to
placa an ordar. Calculate the total annual eost
far the orders placed to the probable suppliers
and hind out tha supplier to wharmn the orders
be piaced, ' 10
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A control Panel consists of 3 nos. Electronics
circuit and 8 nos. Electric circuit. Each Eles-
tronic circuil consists of ‘4 Transistors and
5 Rectifiers and each Electric Girguit conststs
of 3 same Rectifiers and 1 control fuse, The
toad time of each component and the demand
aré az mentioned below. Oraw the Product

Structure Tree and the Materals requirements

plan that defines the number of units of each
compenant when they are reguired and whan

to be ardered. 4+ 5
Lead Times Total Unit Demand

Control Panet 1 day Doy 10 508 :
Eloctronics Gircuit 3 dews Day & 208 (Spares)
Electric Cirguit 2 days Doy 6§ 15D (Spares)
Recifier 3 days
Tranzislor 4 days
Control Fuse 1 day

HSSM 4302 8 g
i ¥



	3pom08I_1.pdf
	3pom08I_2.pdf
	3pom08I_3.pdf
	3pom08I_4.pdf

